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MATHEMATICS AND SCIENCE

GENERAL INSTRUCTIONS

Examinee is directed to read carefully the following
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. Examinee must write his/her Roll Number in the

specified box on the top left hand comer of this page.
Answers are required to be marked only on the
Computerised O.M.R. Answer sheet which is being
provided to the examinee.

. Besides filling in the Roll Number, the examinee has to

put his/her signature on the Answer-Sheet and also fill
other required details like Name, Roll Number, Question
Booklet code, etc. as indicated on the Answer OMR
Sheet. If these details are not filled in by the examinee,
his/fher Answer Sheet will not be evaluated.

. For each question, there are four allernative answers,

out of which only one is correct. Examinee must darken
the circle of correct option in the Answer Sheet by Black
Ball Pen only.

. There are 32 (28+4} pages in this Question-Booklet

including 1 page for General |nstructions and three
blank pages for Rough Work in the last, in case
an examinee receives an incomplete or defeclive
Question Booklet, he/she should make a request
to the Room Invigilator to change the same within
10 minutes of start of the axam.

. This Question Booklet contains 100 questions from

following subjects :
(1) Maths
(2) Science

Q. Nos.
Q. Nos.

1-50
51 -100

. Each question carries 1 mark and % mark will be

deducted for each wrong answer.

. Possession and use of electronic devices such as

Calculator, Cellular Phone, Digital Diary, Log Table,
Pager, etc., are restricted during the examination.

. Any leaf from the Question Booklet should not be

detached. After the Examination, Question-Booklet
and Answer-Sheet must be handed over to the Room
Invigilator.

. During examination the examinee will not be allowed

to leave the examination hall tili the END of the
Examination.
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1.

MATHEMATICS

If HCF (306, 657) = 9, then
LCM (306, 657) is

A) 22328

B) 22338

C) 22348

D) 22358

Choose the rational number.
1

A 7z

B) 7v5

C) 6+2

D) 7449

Quadratic polynomial having sum
and product of its zeroes /2, 1/3
respectively is

A) 3x2 - 32X + 1

B) v2x2-3x + 1
C)-3x2+3v2x+1

D) 3x2 + 3v2x + 1

The zeroes of 3x% + 6x3—2x2— 10x—5

are |3 and _‘/ég_ . The remaining
3

Zeroes are
A) -1, -1
B) -1, 1
C) 1,1
D) 1, 1

Page No. 3

fora

1. afkw.@1.v. (306, 657) = 9t
.99, (306, 657) ©
A) 22328

B) 22338
C) 22348

D) 22358

2. githa s& g |
1
A
B) 75
C) 6+2
D) 7449

3. T fiurdt aguds %yl @0 9 ok
TS S92, 1/3 8 Ragd

A) 3x2-3V2x + 1
B) vV2x2-3x +1
C)-3x2+3v2x+1
D) 3x2 + 3v2x + 1

4.3x% + 6x3 — 262 — 10x - 5% g
aﬂr_‘/g‘élimsﬁ%

A) -1,

B) -1, 1
C)1,-1
D) 1,1
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5.

If the zeroes of polynomial
x3-3x+x+1area-b,a a+b
thena—b,a,a+bare

A) -1,-2, -2
B) 1, v2,-v2
C) 1,2, V2
D) 1,-v2, -2

The pair of lines 5x —~ 4y + 8 = 0 and
7X+6y—-9=0are

A) Parallel

B) Perpendicular

C) Intersect at a point
D) Collinear

Half the perimeter of a rectangular
garden whose length is 4 m more than
its width is 36 m. The dimensions of
the garden are

A)20m, 16 m
B)5m,4m

C)14m, 18 m
D)4m,36m

Five years ago, Nuri was thrice as
old as Sonu. Ten years later, Nuri
will be twice as old as Sonu. How
old are Nuri and Sonu ?

A) 40 yrs, 20 yrs

B) 50 yrs, 30 yrs

C) 60 yrs, 30 yrs

D) 50 yrs, 20 yrs

5. AMAEHEEx3 -3+ x+ 1% Ya—b,
a,a+bq,da-baa+bs

A) -1, -2,-2
B) 1, v2,-2
C) 1. y2, V2
D) 1,-v2,-2

6. X@RT 5x — 4y + 8 =03 7x + 6y — 9 = (
Fym
A) FUFIR
B) Se&Ea
C) w fiig W wfo=adt
D) &g

7. TF AR Siften fSmd dard saeht
iers & 4 Y. 31 R, =i afarg v amen
36 ¢ ) wift= <t fammd &

A) 204, 16 7.
B) 54t., 4 1.

C) 144, 18,
D) 4tt., 36 .

8. wie i e, 7 it g wWig Y ag A e
Ton ¢t 1 10 99 v, 70 it g A

3T T A Bl | sk W i ey
fraft & 7

A) 40 94, 20 5§

B) 50 a4, 30 o

C) 60 g%, 30 a4

D) 50 =, 20 af
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10.

11.

1 .
A fraction becomes § when 1 is

subtracted from the numerator and
it becomes % when 8 is added to its
denominator. The fraction is

3
A) 12

5
B) -2
12
12
)+
12

D) -5

If the product of two consecutive
positive integers is 306, then the
integers are

A) 16,17 B) 17,18
C) 18, 19 D) 19,20

Roots of the equation
J2x2+7x+52 =0 are

A) S 2

9. Vel JAVH A 1 AT A & A Th o %
B 2 MW 8 AW %—am%.
fim2

S
A) 12

5
B) -—
) 12

12
Q) 5

12
D) ~&

10. A} & Fivrh wFTenes QUIfRi 1 S
306 &, & QUi &

A) 16,17 B) 17, 18
C) 18, 19 D) 19, 20

11. Gl J2x2 + 7Tx + 542 =0 %
T

5
A) ﬁs_

B) —%: V2

2

C) —-}2-, -

D) —%JE

2
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12. The sum of the reciprocals of 12. @ & dW a8 qd 9 uiE 3 gy 6t 3y
Rehman's ages, 3 years ago and 1
| 1 ¥ Sgchul AT 3 — §, T IR FAAA
5 years from now is —, then his & 3
. 3 Sl
present age is
A) 5 years A) 54
B) 6 years B) 6=
C) 8years C) 8=
D) 7 years D) 794
13. Value of k for the equation 13. 3 uE gt areh T kx (x—2) +6=0
kx (x - 2) + 6 = 0 having two equal FfaukwoE &
roots is A) 4
A) 4
B) 6
B) 6
C) 0 C)o
D) 24 D) 24
14. Which of the following is an A.P. ? 14, Frfrige i & He-h o w7
A) 2,4,8, 16,... A) 2,4,8, 16,...
B) 10, -6, -2, 2,... B) -10, 6,2, 2,...
C) 0.2, 0.22, 0.222, 0.2222,... C) 0.2,0.22, 0.222, 0.2222,...
D) 1, 3,9, 27,... D) 1, 3,9, 27....
15. 30" term of the A.P.: 10,7, 4,...is 15, @i 3of 10, 7, 4,... FI0OA TR
A) - 74 A) — 74
B) - 80 B) —80
C) - 77 C)-77
D) - 83 D) -83
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16. The number of terms in the
A.P.:18,15%,13, ..., - 47
A) 27
B) 28
C) 29
D) 30

17. How many terms of the A.P.
9, 17, 25,... must be taken to give a

sum of 636 ?
A) 10 B) 12
C) 14 D) 16

18. ABCD is a trapezium in which
AB [| DC and its diagonals intersect
each other at a point O. Then

A) AD || BC

AO _CO
B) o " BO

A0 _CO
C) BO DO

AB_AO
D) bc " Do

19. Disapointon the side BC of a triangle
ABC such that |ADC =|BAC . Then
A) CA2 = CB.CD
B) CB2 = CD.CA
C) CD2=CB.CA
D) AB2=BC.CD

A Page No. 7

16. G| 3ol : 18, 15%, 13, ..., — 47 H @&l
fown e
A) 27
B) 28
C) 29

D) 30

17. 636 %1 91 23 F AT amier Aoft
9, 17, 25,... % for w8 folg S =g ?

A) 10 B) 12
C) 14 D) 16

18. ABCD U= quwis Igsr & ol
AB || DC 3R sa% foraol uah qat i fig
O W yfi=de =@ §, at

A) AD || BC
A0 _CO
B) Do “BO
A0 _CO
C) B0 Do

AB _AO
D) bc "Dbo

19. D st ABC i YT BC R & fig @
waR € foF |[ADC =|[BAC ,
A) CA2=CB.CD
B) CB2 = CD.CA
C) CD?2=CB.CA

D) AB2 = BC.CD

3VD



20.

21,

22,

23.

If A ABC ~ A DEF and their areas are
64 cm2and 121 cm? respectively and
EF = 15.4 cm then BC is

A) 8
B) 15.4
C) 11.2
D) 88

If ABC is an equilateral triangle of
side 2a then length of its altitude is

A) 4a
B) 3a
C) V2a

D) V3a

Pointon the x-axis which is equidistant
from (2, -5) and (-2, 9) is

A) (-7, 0)

B) (0,-7)

C) (7,0)

D) (0, 0)

Coordinates of the points of trisection
of the line segment joining (4, -1)
and (-2, -3) is

A (-7%9)(-%:2)
B) (1, 0), (0, 1)
C) (0,0), 2, 2)

D) (0.-74) (.- %)

Page No. 8

R

20. 3 A ABC ~ A DEF iR 39% a5sq
U 64 9.11.2 3t 121 &2 € ofix
EF=1549.1. 8, §iBC?

A) 8
B) 15.4
C) 11.2

D) 88

21, Fik ABC U= wweng fnge Rt w0
2ag, A=

A) da
B) 3a
C) V2a

D) V3a

22. x-31g W ¥E fag ;M (2, -5) 3K (-2, 9)
LRI RS
A) (-7, 0)
B) (0, -7)
C) (7,0)

D) (0,0)

23. (4,-1) 3R (-2, -3) I Siie) Tt YerEe
= quier foigedl & fdws §
A (-74:9).(-%2)
B) (1, 0), (0, 1)
C) (0, 0), (2, 2)

D) (0.-74).(2-%)

3VD
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24. Centre of the circle passing through
the points (6, — 6), (3, — 7) and

(3,3)is
A) (-2,3) B) (3.-2)
C) 3.2) D) @,3)

25. f15cotA=8thensecAis

A) %7
B) ¥s

c) 74
D) '%

26. 2tan2?45° + cos?® 30° —sin? 60° is
A) 0
B) 2
C) 1
D) V3

27. tan 48° tan 23° tan 42° tan 67° is
A) 0
B) 2
C)1
D) V3

og _COSA : 1+sinA _
1+sinA  cosA
A) 2sec A
B) 2 cosec A
C)1+sinA
D) cos A

24. (6,—6), (3, —7) 3T (3, 3) Figait A =
CIRESE e

A) (-2, 3)
C) (3.2)

B) (3,-2)
D) (2,3)

25, gfd 15cotA=8 disecAR

A) %7
B) %5
o) 178

D) "%

26. 2 tan? 45° + cos? 30° — sin2 60° 8
A) 0
B) 2
C) 1

D) V3

27. tan 48° tan 23° tan 42° tan 67° &
A) 0
B) 2
C) 1
D) V3

cosA  1+sinA_
1+sinA  cosA
A) 2sec A

B) 2 cosec A
C)1+sinA
D) cos A

28.

A 3vD
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29. Theangle of elevation of the topofa 29. fF 3§ =y TIaw W g ﬁs, Rras
tower from the point on the ground, HFR % SR A 30 30, 8, d T A
which is 30 m away from the footofthe 30°% | AR it $=1d @
tower is 30°. Height of the tower is
A) V3m A) V3 .

B) 10V3 m B) 1031,
C)10m ' C) 104,
D) 3m D) 3+,

30. The angle of elevation of the top of 30. FARFH SR & IR % 71 b1 3var sy
a building from the foot of the tower 30° 2 st sume & IR Y MR F v a5y
is 30° and the angle of elevation of IHIT T 60° ] | AR A 50 =t 3=
the top of the tower from the foot of 2 @ s ST

the building is 60°, If tower is 50 m
high, height of the building is

2 254 A) 2% i)
3

o 32/ B) 324 =,
3

C) 163/ m © 16%“
2

D) 163/ m % 16% 1#.
3

31. How many tangents can a circle 31. T 9 it foeft el Yand & vt € 7

have ?

A) one A) T
B) two _ B) @
C) infinite C) ¥Fa

D) zero D) ¥
3vD
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32. From a point Q, the length of the
tangent to a circle is 24 cm and the
distance of Q from the centre is25 cm.
The radius of the circle is

A) 12
B) 7
C) 12.5
D) 7.5

33. Two concentric circles are of radii
5 cm and 3 cm. The length of the
chord of the larger circle which
touches the smaller circle is

A) 8 cm
B) 2icm
C) 5¢cm

D) 3cm

34. Aichord of a circle of radius 10 cm
subtends a right angle at the centre.
Area of minor segment is

" A)27.5 cm2
 B).27 cm2
(6) 28.cm?2

D) 28.5 cm2

32. & fig Q @, o T8 W vt Y i e
24 a7l § S FK A QF g 2524,
timAtene

A) 12
B) 7
C) 125
D) 7.5
33, & dehet g 5 A1, 3 3 A, P
FEIRTHR A FaE N SR I
IR
A) 8a .
B) 2 @1,
C) 59.4i.
D) 3 &4,

34, fsar 10 8.9, I U g9 6 @ Iy
T T ORIV ST R | 7 8T < B &
A) 27.58.1.2
B) 27 &.#.2
C) 28 9.#i.2
D) 28.5®.31.2

Page No. 11 3VD



35. An umbrella has 8 ribs which are
equally spaced. Assuming umbrella
to be a flat circle of radius 45 cm the
area between two consecutive ribs

is (use n= 2%)

28 2
cm
A 22275

22277 e
28

22275 om?
28

22279 em?
28

B)

C)

D)

36. Area of a sector of angle p
(in degrees) of a circle with radius R is

A) (2=R)

720°

B) (2nR?)

720"

C) (2rR)

360

(2rR?)

D) 360

37. Atoyisinthe form of a cone of radius
3.5 cm mounted on a hemisphere of
same radius. The total height of the
toy is 15.5 cm. The total surface area

of the toy is (n= 2%)
A) 2143cm? B) 214.4cm?

(T SR

35. TF B & TeR it W R 8 it @ |
B Y 45 A3 N Brewr aren w Tu2
W U §U D whe it % e
SELTS A (x=22/7)

28
A) 22275 @412

22277 5 o,
o .1,

22275 5 .,
T |4,

22279

B)

C)

T2

D)

36. 1 R 310 @& g9 % v p (faf F) &
TF GS Tl % &

A) (2=R)

720°

B) (2nR?)

720°

C) (2rR)

360

(2rR?)

D) 360

37. @ fgeln 3.5 3. e S g &
& & &< e e o sl TR mowE
| Reelt it ot =€ 155 AR 1)

flaei =1 3ot et Brwe (1::2%)

A} 214.39.1.2 B) 214.4 §1it.2

C) 2146cm2 D) 214.5 cm? C) 214.6 8.2 D) 214.53.7.2
A Creco 1z svo
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38. ' A gulab jamun contains sugar syrup
upto about 30% of its volume. If each
gulab jamun is cylindrical with two
hemispherical ends with length 5 cm
and diameter 2.8 cm. Then syrup
that would in 45 gulab jamuns is
A) 338 cm?3
B)-330 cm3
C) 348 cm3

D) 340 cm3

39. A metallic sphere of radius 4.2 cm
is melted and recast into the shape
of a cylinder of radius 6 cm. Height
of the cylinder is
A) 2.74 cm

C) 3.5cm

B) 3cm
D) 4cm

40. The slant height of a frustrum of a
cone is 4 cm and the circumference
of its circular ends are 18 cm and
6 cm curved surface area of the
frustrum is
A) 24.cm?

B) 48.cm?2
C) 12 cm2
D) 60 cm?

41. The sum of the probabilities of all the
elementary events of an experiment is

A) 1 B) 0
1
o3 D) 3

38. T T WAF § 3HS IR Al 30%
eI ] | AR TR T ST SEHIHR
? Rroehl iad 53 7). el 2.8 9.1, =
TR 3 AP F BB A 45 T
<At 3 feperft <t wonfda €t ?

A) 338 @.4t.3
B) 330 ¥.1i.3
C) 348 41,3
D) 340 9.3i.3

39. i< 4.2 ., %1 urcelisn el faemn
T & 3it 6 941, ot Far et o ae
# iy ¥ qA:GT T 8 | aeE
E IR

A) 2.74 3.4,
C) 3.5 a1t

B) 3 4.4,
D) 4 3.4,

40. T& 9% % fosmer i Refr Sag 4 ft. 2
iR 30 TR S 6t ufmm 18 A4
AR 6 M. ¥ | o 7 THYS AR &

A) 24 1.2
B) 488.7.2
C) 12@.1.2
D) 60&.71.2

41. T yim & uft aifcas weTed i
TiRERa 1 am R

A) 1 B) 0
1 3
C)E D) 2

A 3VD



42. If P(E) = 0.05, then probability of
‘not E' is

A) 1

B) 0.95
C) 0.90
D) 0.75

43. Adieis thrown once, the probability
of getting a number lying between

2and6is

3 1
A)Z B) 2

1

— D) 1
C) 3 )

44. Adie is thrown twice. Probability that
5 will not come up either time is

14
A} —
) 36
1
B —
)3
C) 1
25
D) =

45. A bag contains 5 red balls and
some blue balis. If the probability of
drawing a blue ball is double that of
a red ball then number of blue balls

in the bag
A) 10 B) 5
C) 15 D) 20

46. HCF of 196 and 38220
A) 90 B) 45
C) 15 D) 196

(A
42, aﬁma:o.os,érs:éh%}mhm%

A) 1
B) 0.95
C) 0.90

D) 0.75

43. WU F w AR ST, 2 36 %

ﬂ?ﬁﬂi\?ﬁ@l%*ﬁﬁ%%
4
A) g B) ¢
C) -2‘— D) 1
44, T 9741 4 IR S me € | 5 % Rt of
AT 3H A T @
A) %%
B) %
c) 1
D) %

45. WA 5T NS st AT E | 7R
T 1} e Y ardem fieht iz % Rwer
ot STl S R, < &7 & el A
e i
A) 10 B) 5
C) 15 D) 20

46. 196 3R 38220 HTw.41.9. 2
A) 90 B) 45

C) 15 D) 196
Frgotio. 11 3D
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47,

48.

Area of the triangle whose vertices
(-5, 1), (3,-5), (5, 2) is

A) 30 sq. units

B) 31 sq. units

C) 32 sq. units

D) 33 sq. units

(1 + tan 6+ sec 6) (1 + cot 6 —cosec 0) =

A) 1
B) 0
C) 3

D)2 .

49.

50.

e S b1,

| SSUTEE -

Sum of the areas of two squares
is 468 m2. If the difference of their
perimeters is 24 m sides of the two
squares are

A) 6m,9m
8) 18m, 27 m
C)12m,18m
D)3m,4m

The sum of the third and the seventh
terms of an A.P. is 6 and their
product is 8. Sum of first sixteen
terms of the A.P. are

A) 20
B) 48
C) 24
D) 10

47. 39 P 1 daea Ras M (-5, -1),
(3,-5), (5. 2) &
A) 30 a1 TS
B) 31 =i 3ré
C) 32 i 5iE
D) 33 =l 5hr8

48. (1 +1an 6+sec) (1 +cot0—cosecB)=
A) 1
B) O
C)3
D) 2

49. T T F ATFal w1 AT 468 W2 ® | AR
I GRET 1 ST 24 Hie & a3l

T &

A) 6., 9.
B) 18+, 27 #i.
C) 12+4t., 18 4.
D) 3., 4 4.

50. T auiat Aoft % e it gras ug S A
6 & 3l orHe 8 } 1 wwiR Aoft % ww
e W1 /AT R

A) 20
B) 48
C) 24
D) 10

3vp
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52.

53.

PHYSICS

When object is placed beyond the
center of curvature of a concave
mirror, then the size of the image is

A) Enlarged
B) Same size -
C) Diminished

D) Highly enlarged

A ray passing through the principal
focus of a concave mirror after
reflection

A) Will retrace the same path of
incident ray

B) Wil reflect obliquely

C) Will emerge paraliel to the
principal axis

D) Will appear to diverge from the
principal focus

The larger value of absolute refractive
index in the following list of materials
are

A) Fused quartz
B} Rock salt
C) Sapphire
D) Diamond

{0
wiifores R

S51. 59 9% 76 W U gae 2o & g

&% % WIS Tar e 2, ) e e
HTHR e &

A) Fg1 g3

B) Tum

C) Bt

D) a¥eaferes a1 gant

52, @Wﬁm%mqﬁmﬁwg

o T % wie

A) ST9fer R % T v W@ g
st

B) ft& waafia anft
C) YU 338 & "uHiaT I9vh

D) sum wiha @ foauet g wiw
it

53. warel S Freriian gt 3 qof s

1 fehay g R

A) 1fRg e
B) @1 A5
C) Hrem

D) &
Vo
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55.

56.

(A

- 54,

A lens with power —2D indicates that
the lens has

A) Focal length of — 0.5 m and is
concave

B) Focal fength of —0.5 m and is
convex

C) Focal length of — 2 m and is
concave '

D) Focal length of — 2 m and is
convex

No matter how far you stand from
a mirror, your image appears erect
and the image distance remains
same as that of the object distance.
The mirror is likely to be

A) Plane

B) Concave

C) Convex

D) None of the above

An object is placed at a distance
of 10 cm from a convex mirror of
focal length 15 cm. The position and
nature of the image is

A) 30 cm, in front of the mirror,
real and inverted

B) 30 cm, behind the mirror, virtual
and erect

C) 6 cm, behind the mirror, virtual
and erect

D) 6 cm, in front of the mirror, real
and inverted

o T

54. oD WA ¥ UF <9 il & f6 34
a4

A) BiE it — 0.5 7 & i 7 e §
B) cﬁmaﬁ—o.sm%ﬁl{aﬁaﬁ%

C) D gl — 20 ¥ ol e s

D) Wi glt — 2 7 & o @ 3w 8

55. To0 s wE e et foh A Edur @ Rl
e, e i den i afifia
I A AR TR | TR

A) TaA

B) s7ael

C) v

D) I9lad # & =g el

56. TE g 15 A ) S g 9 T o
o @ 10 AR H PP T ? |yl
et afr wepfa @

A) 30 deft, Zdor 3 IR, TR S
I

B) 30 ft, 7dur & 91, s IR
e

C) 6 I, zdw & IS, il 3
g

D) 6 Juit, Tdur 3% T, TRt 3
Ieel

3VD



57. The human eye can focus objects at

I
57. B 319 o ) e gt 3 e

different distances by adjusting the Afr i -
focal length of the eye lens. This is b & T T H T
due to T | TR FER SR |
A) Astigmatism A) IRdury
B) Accommodation B) €9
C) Near-sightedness C) fiwegfsy
D) Far-sightedness D) ggfRay
58. Howmuchworkisdoneinmovinga 58. 1ovaa1°q’qa1'ma'réa’tﬁgaﬁﬁia‘l
chargeofscacrosstwopointshaving ST
a polential difference of 10 v 7 5CHw ﬁéaﬁﬁﬁmmﬁﬁﬁ%
A) 50 J B) 0.5J A) 50J B) 0.5
C) 24 D) 0 C)aJ D)o
59. Resistance of the conductor 59. T gare w1 gRdy Wk
depends on F@E |
A) Length A) TeTg
B) Area B) &=rwer
C) Temperature C) wrmmE
D) All the above D) Swfe aft
60. The resistance of a metallic rod 60. 1 #t =it s 3k 20 aft R B T=h
of length 1 m and radius 20 cm & vifcas o2 %1 yfikiy (88 & v &y
is (given resistivity of the material =2 x 1078 o)
rod =2 x 1078 Qm)
2 .6
A) —x107°Q
A) 2,100 ) 2
. 05 . ¢
B) 23 10%¢ B x10a
.
S .16
¢) 2x10%0 C Zx107a
T
0.2 £
D) 22, 10-6¢ D) -x107a
T

T
avo
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61. Find the total resistance in the 61. aﬁgﬁwgﬁﬁqmﬁﬁm
circuit.

|

1[ N Ra - N Rs

| < Wi ¢ <ﬁm‘ <
Rs Rs

R1=59,H2=2OQ

R,=5Q,Ry=200Q

A) 18Q B) 14Q A) 18Q B) 14Q
20 20
C) 16 Q D) 7€ C)16Q D) 70
!  62. The phenomenon of production of 62. W WY AR & TEE A1 T &
induced current in a coil placed in ﬁ‘@mqﬁt@%ﬁmﬁgﬁ%m
a region where the magnetic field fafEen 2

changes with time is

! A) Lorentz force A) S w9
B) Electromagnetic induction B) Rreagwr v
C) Eddy currents C) T urd
D) Joule heating D) & I
63. Which of the following is a non- 63, Prafifaa # & FH-T1 Tt i R-TRI
conventional source of energy ? qae :
A) Fossil fuels A) dg 3
B) Hydro power plant B) mﬁ-@m
C) Thermal power plant C) ard R

D) v Tt

D) Solar energy
A [ Fago o 9] 3vo




(EE L
64.  An electron enters a magnetic fieid 84. TR R e IR G Yo

at right angles to it as shown in the mﬁmwmm% lﬁ’ﬁﬁ‘ﬁ
fig. The direction of force acting on T T et Y Rwn @t
the electron will be

4 Electron 1 %

Magnetic field 3

A) tothe right A) = ik
B) to the left _ B) &8 3kt
C) out of the page : C) U3 9 &t
D) into the page D) 9= & iR

65. At the time of short circuit, the | 65. mﬁuﬁrz%w,uﬁzﬁﬁgﬁ

current in the circuit

A) red bstantiall 2 Rl

reduces substantially
B) does not change B) et Bl
C) increases heavily C) Tt srgeht &
D) vary continuously D) SWTaR deed! 2

66. 100 J of heat are produced each 66. % 4 Q yfeas 100 J 3511 wfi A%z
second in a 4 Q resistance. The e wfies & R
potential difference across the B | i 8
resistor is
A) 5V A)5V
B) 20V B) 20V
C) 10V C)1ov

D)oV D)oV
avo



67.

68.

69.

70.

71.

CHEMISTRY

The element which is sonorous
A) Aluminium

B) Gallium

C) Selenium

D) Sulphur

The metal which possess very low
meiting point

A) Sodium
B) Potassium
C) Lithium
D) Caesium

Nature of CuO is
A) Acidic

B) Basic

C) Neutral

D) Amphoteric

Amphoteric oxide is
A) ZnO

B) K;0O

C) Na,O

D) Ca0O

The metal which reacts with cold
water

A) Pb
B) Al
C) Fe
D) K

A g

67. € e N A 7
A) Cegtfrm
B) #few
C) dwifEan
D) §H

68. e Uy I TeTiE i T R
A) HifgTm
B) uiefem
C) =fiftmm
D) difsem

69. CuO Hiwgfi 2
A) T
B) &
C) |
D) Syt

70. SvauHt JAFaES B
A) ZnO
B) K,0
C) Na,O
D) CaO

71. =8 urg s viiaw e % wre e
LGRS
A) Pb
B) Al
C) Fe
D) K
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72.

73.

74.

75.

76.

Aqua regia is a mixture of conc. HCI
and conc. HNO, in the ratio

A)3:1
B) 1:3
C)2:3
D)3:2

Chemical formula of cinnabar
A) HgO

B) Hg,Cl,

C) HgS

D) HgCl,

The process of heating a substance
in the absence of air is called

A) Calcination

B) Roasting

C) Evaporation

D) Thermit reaction

is added to Pickel as

preservative.

A) Vinegar

B) Acetic acid

C) Glacial acetic acid
D) Baking soda

Sweet smelling compound among
the following is

A) Diethyl ether
B) Diethyl ester
C) Ethanoic acid

00 A

72. mﬁﬁmuﬁaHClaﬂtm&aHNo &
e huEEHfm Y

A) 3:1
B)1:3
C)2:3
D)3:2

73. e (RAR) = vemafen g @
A) HgO
B) Hg,Cl,
C) HgS
D) HgCl,

74. 913 <t srgafeafa § frdt werd = mi 0
< Wfsha et @

A) Fremm

B) 3

C) amdiewm

D) T srffsran

75. _ wIFERAGEE S EUq
TRATAETR |

A) R

B) TRies 3

C) e s aner
D) s |ier

76. T & widt gy 2 aren iffem }

A) STERUTRS $oR
B) STEURa $&X
C) 33iga 3
D) Wigsh 3n<

D) Propanoic acid
rago o 22 3o



.77

78.

79.

80.

3

2 Pb{NO3);—2— 2 PbO + 4NO, +0 .
Here X is

A) Ni

B) H,S0,
C) Heat
D) Sunlight

Glucose combines with O, in the
ceils of our body and provides
energy. This reaction is called

A) Combination
B) Respiration
C) Digestion

D) Combustion

Bronze is the alloy of
A) Cu & Sn
B) Cu&Zn
C) Pb & Sn
D) Cu&Pb

Formula of washing soda
A) Na,CO,.10H,0

B) Na,CO4.5H,0

C) Na,CO,.4H,0

D) Na,CO4

77. 2Pb(NOg),—=— 2PbO +4NO, +0j .
T|X B

A) Ni

B) H,SO,
C) =7

D) RehI

78. TS TR T I B A O, %
AT G B gl Tl WeH T 81 98
P e €

A) GIeH
B) va&=
C) T=A

D) <&

79. e Hrfismg R
A) Cu 3R Sn
B) Cu 3R Zn
C) Pb 3iR Sn
D) Cu 3 Pb

80, HTE TIST I §F
A} Na,C0,4.10H,0
B) Na,CO4.5H,0
C) Na,CO4.4H,0
D) Na,CO,

Page No. 23 : 3vD
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81.

82.

83.

Sodium hydroxide reacts with zinc
and liberates

A) Hydrogen
B) Oxygen
C) Sodium

D) Carbon

MnO, + 4HCI — MnCl, + 2H,0 + X,
where X is

A) O,

B} Mn

C) H,

D) Cl,

Decomposition of Silver bromide is
an example for

A) Exothermic reaction

B) Endothermic reaction

C) Precipitation reaction

D) Double displacement reaction

Page No. 24

A A

81. aifeam ergimgs e % Wi i

82.

e & 3R TR S |

A) TG
B) aadiem
C) wiftam

D) %

MnO, + 4HCI — MnCl, + 2H,0 + X,

EIXE
A) O,

B) Mn
C) H,
D) Ci,

83. fieer sHTEe o forere = seem @

3VD
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84.

85.

86.

BIOLOGY

The amount of energy that will be
available to big fish in the food chain :
Small Algae — Zooplankton — Small
Fish — Big Fish, if 10000 J of energy
is available to small algae from the
sun is

A) 1000 J
B) 100 J
C) 10J
D) 0.1J

The dialysing fluid used during
dialysis is devoid of nitrogenous
wastes but has the same osmotic
pressure as

A) Urine
B) Blood
C) Lymph
D) Water

Which of the following statements
are not correct ?

A) Basic event in reproduction is
the creation of a DNA copy

B) The DNA in the cell nucleus
is the information source for
making proteins

C) Two copies of the DNA are
made in a reproducing cell

D) Evolution during reproduction
is the basis for variation

Straymea

84, IR T A B ¥ I I9ereE I 10000 J
2, ), B FaE — R — S A
— 5&) TS ATER FEe § 2 woel B
IeieH Sl <ht HET Eft
A) 1000 J
B) 100J
C) 10J
D) 0.1J

85. aTfieT ¥ S S 21diEe a | gEeH

arafire & ¥ Wy IEHT T T
FEH S |

A) T3
B) W
C) it
D) ¥

86. Neffaa Y F-GT FUA AT TG & 7

A) o 3 gum gen e wiafaf
= fmfor &

B) =it Fz% # dwe A TR
F fovu g 1 wia @

C) T [ScuTes i § ey $it
3 ettt s s §

D) W & A T fafewar &
AR R
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87. The insertion of Copper-T in the

89.

uterus to prevent pregnancy falls
underwhich category of contraceptive
methods ?

A) Surgical method
B) Barrier method

C) Intra uterine contraceptive
device

D) Chemical method

Which category of organisms forms
the starting point of a food chain ?

A) Secondary consumers
B) Herbivores

C) Producers

D) Tertiary consumers

Amoeba takes in food using
temporary finger like extensions of
the cell surface known as

A) Flagella

B) Villi

C) Pseudopodia
D) Cilia

Which of the following reproduces
by multtiple fission ?

DS D

87. MiERY #r MW ¥ Ry moiv F Fiw-d
e iR et & frg Avi &
g ?

A) reafsear ffy

B) sy fafy

C) 37 miivg mifFRYe gomeh
D) e fafy

88. Sfial 1 BA-71 Tl wF AEW gawn
AP fag 2 7

A) fieftas anifn
B) ehTETt
C) 3R+
D) qdtas Sefian
89. arHfien I 7% i srurft et deh

HSTIST T ST T G YO T80T e
R e ¢

A) FimER
B) 37 (farars)

C) urenT (ggiaifean)
D) skt (fiferan)

90. FRefiiaa # & A ageeT g yora a7

A) Bacteria A) STy

B) Plasmodium B) weirwHtTEm
C) Yeast : C) e

D) Amoeba D) snften

CPego o, 7o | 3V
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91.

92.

93.

94.

Where are the reproductive parts of
angiosperms located ?

A) Fruits
B) Seeds
C) Flower
D) Root

Which trophic level do pesticides
enter the food chain ?

A) Producers
B) Herbivores
C) Carnivores

D) Top carnivores

Energy derived from food we eat is
stored in our body in the form of

A) Glucose

B) Starch

C) Glycogen

D) Glucagon

Which of the following are responsible
for the opening and closing of the
stomatal pore ?

A) Epidermal cells
B) Guard cells
C) Chloroplasts

D) Nucleus

91. STl o 3 el FRk B E 7
A) &
B) sf=
C) ™
D) ma/<

92. g difSema T T FieTEh ATER FEw
Ty e € 7

A) JEEH
B) WmETERI
C) wtarer
D) s wiamert

03, TR ERI TR Y s & Perameh S gk
R H F e 1 cufed B &)

A) TP
B) ==

C) TergehiSH
D) wLwrT

04, T 10 ¥ g F gen ol &R & for
Prefafaa § § = o 2 7

A) STErE I
B) & ShiTNTER

C) TARIRE

D) s

a0 27 3VD




95.

96.

97.

Hormones secreted by which of
the foltowing gland are responsible
for people who are either dwaris or
giants ?

A) Thyroid
B) Hypothalamus
C) Pituitary
D) Adrenal

Which among the following is the
product of fertilisation ?

A) Gamete

B) Pollen grain
C) Zygote

D) Embryo

Gregor Johann Mendel was born in
the year

A) 1822
B) 1832
C) 1852
D) 1884

95. Frafafiae # @ few ofy ¥ g0 =
B E ok s o Rremer R % R
IER 7

A) 9FRiSS
B) uvSaw
C) Wy

D) U@

96. =t o F-w1 =T T sme 7

A) T5%
B) WrTRT
C) gm=
D) qu

97. MR S e &1 o= a9 : 3
B

A) 1822
B) 1832
C) 1852
D) 1884
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98.

99.

100.

The traits controlled by specific
genes and are passed from one
generation to other is

A) Acquired trait
B) Inherited trait
C) Dominant trait

D) Recessive trait

An animal having rudimentary eyes
among the following

A) Octopus
B) House fly
C) Cockroach

D) Planaria

The scientist who gave the theory of
evolution is

A) Harold C. Urey

B) Charles Darwin
C) J. B. S. Haldane
D) Stanley L. Miller

98. A Tur A Rifdre Sfw % g Fafa ¥ €

3fi e it @ gud i i Ry 3

A) Iqifsia o
B) ITgafe
C) vt 7O
D) TS 7T

99. Frafifga # & frw Sfia #hi sreafriia

g E?

A) ANy
B) T wEEt
C) ®iwt=
D) Afa

100. Jeva = fugia foFm S A fean 7

A) Fieedt.
B) =Ted Sifdq
C) <. sft. . wieed
D) & T fieer

3VD



Answer Key for 3 VD (Set-A)

o

Answer Key Q. No. { Answer Key

23333ianldce~oaswmalz

O b bbb A B bbb DWW WL W W W W W

51
52
53
54
55
56
57
58
59
60
61
62
63
64
65
66
67
68
69
70
71
72
73
74
75
76
77
78
79
80
81
82
83
84
85
86
87
88
89
90
91
92
93
94
95
96
97
98
99
100
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